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A Answer either in Enghsh or in Assamm
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1. Choose the ‘correct aﬂ’swer ‘from the followmgfﬂﬂ
questions : - 1x7—7';;_‘ L
G azmra #N <
(a) The ; :whic'h we can locater various

flues is’ known as
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(m) Cumulatxvei‘ ﬁequency ‘curve
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(1V) "(Q, Qz)
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o (1) quan square dewat:on

61) Root mean square devmnon :
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(m) Vanance '
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~ (iv) Co-efficient of varia;t'idn .
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(d) Which of the following statement (s) is/are

true ?
were faml @ﬂm/mamiﬁﬁ«q g ?

1. A The senes havmg lesser c.v. is said to

be more’ consistent than the other.
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- less cens:stent than the other.
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. III The: senes haitmg greater cv is said to o

be mqre consxstent than the other
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having lesser c.v. is said to be.
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2. Answer the following que's'tioné'brie‘ﬂy k 2"4’—;8» B
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3. Answer any three. questlons from-the following : . (c) Calculate Mean and Standard deviation from

5x3=15 the following frequency table :
S : _ 'mmwmﬂasﬁmﬁcﬁw,

(@ Prove that- It % 9 <1, _ Age (in yea,s), _ No. of students

T Sl o RER RY
1 20-30 3

‘where- r(x, y) is the correlatlon coefﬁclent
between X and y

amw l<r(x,y) <1

fr(x,y)faxwyamwwrmn 13040 - ‘ 61
‘ N 40-50 132
(%) Draw the histogram and frequency curve 50-60 . 153
from the following frequency table : A : V60-—_7'0 . a0
| WWWWWWW 7080 .
Age (m years)  No. of : studems '
()  wmowmt
2-5 6 ‘
T 6
-2 2
12_14 5 .
: 14—15 S 1
15—16 : 3
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4. Answer any three questums from the followmg

;
N
7
¥
Y

*q, +and s be the successive enmest
'f',ndmg to. equldlstant arguments . l
" in'e difference table, show that when -
B “third. dlfference are taken  into account, .
Tt thnenm corresponding to the arguments . .

- halfway ‘between- the wguments of q and:;.. T

- ‘ mean ofq and r- and B is the anthmettc; ¥
’ "mEanof?’q 2p sand3r 2s p
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(b) Wnte down the, general quadrature formula L
and ﬂlen obtam"Slmpson s 3/8th rule. Also‘ -
btain the value of log, 7 using the same.

| 1+6+3—10 0

% een two vanables.?: N
ttypes w1th examples.




(¢) Derive the regressmn line of Y on X and X
~onY using prm"i iple of least square. Why tw¢
 regression lines are used ? Also mention any
“two propeﬁxes of- regressxon co-efﬁcxentA

(d) (1) How do you determme mode of a
\ ﬁgrouped frequency dlstnbutlon graphi-
) cally g | 3
caiﬂﬁ@tf@fewwm a%ﬁwf% -
WA ﬁiﬁ?‘f IR 2 :

(u) Draw the Ognves for- the followmg data
o oset: ‘ “6+1=7

Wﬁmmwwﬁeww°

‘..Marks : No. of students
5 . o Rt

‘6"—'10 | 4
10-20 3
20-3%
30-40 C 15
40-50 12
50-60 8
5()..70 | - '”3‘
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(ii) ‘What Sh ) ;é’s’ correction’ for mo-'ﬂ”‘ -
- hat are the corrections for the -

ot

TR . i

Hence obtam the medxan value
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